= 3 aEt SHs
1 HA|ZA| 22t EEE FE2X} 2xd 5075
1 T 0] = OfO|ALO| =(FL|0f) 2Urs 4857
1 CHo|g & PRO [=RY= 1225
1 d2f A 5710170 ESPes 5076
1 001 O] = THE &£t 7H&57((4L) [=FPS 6241
1 HFO|2710|0F 27tF Fitd ME (EfE2! + H|O|HIEF) x5l 8410
2 HtO|27t0[0F 27tF F4td ME (EIE3 + H|O[HEF) Bk} 3682
3 HFO|27t0[0F 27tF FAtw ME (EH23 + H|O[H|EF) 2UxH 9255
4 HtO|27t0[0F 27tF Fitm ME (EIE3 + H|O[HIEF) E Xl 7396
5 HFO|27t0[0F 27tF FAtw ME (EH23 + H|O[H|EF) g 1750
6 HFO|27t0[0F 27tF FAtw ME (EHZ3 + H|O[H|EF) 20| 9696
7 HtO|27}0[0 27+F [itm ME (EFE3 + HO[HIEE) Ohx & 1644
8 HtO|27t0[0t 27tF [itd ME (EIE3 + HO[HIEE) e 9817
9 HtO|27}0[0F 27+F [itd ME (EFE3 + HO[HIEE) 2 9998
10 HtO|27t0[0F 27tF [itm ME (EFE3 + HO[HEE) w2t 6566
11 HFO|27t0[0F 27tF FAt7 ME (EF23 + H|O[H|EF) ESEE= 8631
12 HtO|27t0[0t 27tF [itd ME (EIE3 + HO[HIEE) LIPS 9915
13 HFO|27t0[0F 27tF FAt7 ME (EF23 + H|O[H|EF) 0l*& 3730
14 HtO|27t0[0F 27tF [itm ME (EFE3 + HO[HEE) 23 5113
15 HFO|2710|0F 27tF {Fitd ME (EFE3! + H|OHIEF) A0l 0630
16 HtO|27t0[0F 27tF |Fitd ME (Et23 + H|O[HIEF) TS 7464
1 = SHEMHENE Ol*Lt 2896
2 = SHEMHENE Ux 0791




